Rt EZLPFRIBFER »FT £4]p FIERGAELP £

113237 5p 1128 & & $28 9 % 1= 295 ¢ R &
113257 31p 1124 & B 525§ % 1% it § KL &
113#127 13p 1138 # A& % 18 # ¥ 1= %75 € R 6
114227 25p 1134 & B %24 9 % 1% #2795 ¢ KL &
114#57 6p 1135 & A& 5 28 3 % 1% 30k § 3Rl 6

2 g | = y-#z EEE y-Hz Yoo & E L
1 Lp oz 3 - 3 - - 3 - ! -
| %E r’f)” 2 =3 — — — = =
AEIEAEIEAESE AR A EAESESEIENESESENENESENE
AN = VAN = | VA o< RS (= (AN =3 VAN < (A == A = IV N A -
EE 16 [16 [3]3]3]3]3]3[3]3]2]2]2]2
ERN ] E‘é 16 [16 [3]3]3[3]3]3][3][3]2]2]2]2
1F/ABEE 2 2 12121
AR gz% 8 8 222 ]22]2]2]2
i 2 2 |[2]2
) Ak §AF 3 P 2 2 2 |2
e 2R g g 2 |2 2 ]2
3 g 4 |4 fl2]2]21]2
SR AR
i Az P 1|1 1[1
B - 5 @ 2 2 |2 ]2
A
e Bireg By 2 |2 2 [2
i3 e 4 |4 221212
i} oL AF
L R4 2 | 2 2 |2
ERSMTAERE |WT 10 (1022121222122 (2]2
AR KT 2 P E R
EE kS 0 12 foJ2]Joj2fof2]Jof2]o0o]2]o0]2
Rt e i o 3 75 | 87 |21 ]23]18 |20[12 |14 |10 |12 6 [8 |6 [8|fo oo |ofo|o]o]|o
IR 3 3 |[3]3
FEE 2 | 2 272
BRI & 2 2 2 |2
44 (5 R %) 3 4 |34
fEE (29 %) 3 | 4 3|4
2RF(ZR®) 4 | s 4|5
et $ (57 %) 3 4 3|4
BES 2 2 2|2
EE RS 4 | 4 22212
EETEES 2 2 2 |2
BB R 1 1 11
I E ES 2 2 2 ]2
AAgEEE 6 6 4ala]2]2
A AERE 4 8 2|al2]4a
AR R 2 2 2 |2
L RE 2 2 2 |2
LR E R % 1 2 12
. [EEFR 2 2 2 |2
., |RrEmEsy 3 8 3|8
L [ptpEmE 10 [ 10 5 [5]5 5
¥ PR 2 % 2 4 121112
T T 4 | 4 3131111
L |Epsey 4 | 4 2122 |2
Yo |AnEngd s 1 2 1|2
I R hm 2 2 2 |2
ﬁzéﬁisﬁ.zﬂ'ﬁ 4 | 4 414
4 | 4 4 |4
2 2 2|2
2 2 2 |2
% H I 2 2 2 |2
EEET Y 2 2 2 |2
FER&HK(F ) 0 1 0|1
L - 3 8 318
L T -0 3 8 318
APERERY 3 8 318
SREEE Y 3 8 3|8
1‘%‘197}1&?”5‘35’“ 3 8 3|8
AR ELEREERY 3 8 318
Tehk E Y 3 8 3|8
AR ¥R AT 2 2 2 |2
% Rk 2 | 2 2 12
itk oG |3 115|168 [[8 [ 9 |7 [ 8 [[13 [17 |13 [16 |18 [24 |15 [17 |16 [17 |12 (32| 9 [24]4 [ 4
RiTd B L Eeig s 190 | 255 |29 (3225 (28] 25[31|23[28[ 24 (32|21 [25]16[17]12(32] 9 [24] 4 | 4




Mzt e 0L fERIBFER »FT £#4]p FPIGERPEARF D £
113437 5p 1125 & B % 28 ) % 150 143 § R 6
11357 31p 1124 & & %25 % 150 i § R0 &
1134127 13p 1135 & A& % 15§ % 1=t Hit § R 6
11427 25p 1134 & & %25 8 % 10§74 § R0 &
11457 6p 1135 & B % 28 ) % 1% it § R 6

3P e
. y-#z EEE y-Hz Yoo & E L
B LB 2 A ¥ ¥ + - b - b - 13 - 13 -
2w e I 4 4 4 4
glg|2(%2|% AEIEAESEAEIEIESESEAESESE NE
AN = VAN = | VA o< RS (= (AN =3 VAN < (A == A = IV N A -
2 2 2 ]2
2 2 2 |2
# B 2 2 2 ]2
~ LRETE 2 2 2 12
A EFEa kT 2 2 2 ]2 @] @
2] EFEHE 2 2 2 ]2 2] @
iefFE 2 2 2 2
R 2 2 2 )2
Y 2 | 2 212
n T EE = 2 2 2 |2
i N 4 bRT 2 2 2 ]2
ES n A wE T 2 2 2|2
iE Mg R4 Fow 2 2 2121@|@
4 ] 538 ok 2 | 2 2 @@
°F Bt A 2 | 2 2 |2
B P 2 | 2 2 |2
RS Y 2 2 2 ]2
e I 2 2 2|2
m gr%,}i,ﬂ;bt’ JEly M 2 2 2 2
. PN 2 2 2|2
i s 2 2 2|2
.; BAE? 2T AT > 2 2 2|2 2]
F BB R 2 | 2 2|2
# B 6 it 2 | 2 2|2
HERiy 2 2 212
ARpEE 2 2 2|2
AT 2 2 2|2
s iR 2 2 2 12 @] @
Tk e 2R )3 2 2 2 2
Eh 2 2 2 |2
e 2 2 2 |2
4 B 2 2 2|2
LEEFEE 2 2 212
YLk 2 2 2|2
G R & 2 2 2 |2
Epgey 2 2 2 |2
B EpgEny 2 2 2|2
¥ Em 2 s 2 2 2 |2
3;:5 Rt my 2 2 2 )2 2]
5 g gEE 2 2 2 |2
P e w ] 2 2 2 |2
Tk AL 3 3 3|3
L RERY 3 8 3|8
Rk T 2 |2 2|2 |2
I (7 e 2 2 2 |2
R RAE Y 3 8 3 (8
%ﬂ*ﬁ%?ﬁﬁé 3 |3 313
R ) 2 2 2 |2
AAFERG (=) 2 2 2 )2
AAFE RS (2 2 [ 2 2 |2
PR e v g ] 2 | 2 2 [2
LrFe RAEERE) 1] 2 112
gy 3 8 @|E]A| @] @3] ®)
B EL | 30 |30 f[ofof22f2|2]a|afalala|afalafo|ofa]|[3]s]s
B g N R 220 | 285 [[29 [32 |27 [30 |27 [33 |27 32 ||28 |36 |25 |29 |[20 [21 |12 [32 |[12 [27 12 [12
LAEARP B ML EE N L 22084 ¢ LA BLBHLITEEA; LELBHPLUSEA S EBHp 353084 - (FEEBZ V1684 > 7 L £3%
Bgder o TEDBRERY , ~ "HRATREL 2 EB- PHRAIEE LEEE A3 EHMY P FX CAAHE I R T E
i P‘i"»‘"i%’ﬁZ—F’“éﬁcﬁ&é%?&i )
‘;‘ $ PR ¥ 5 B (7 % b CEF/CEFR-A2% 11 F 354k Tplsk & B2 -
4 3.7’2/’s’&%’eﬁ%%fv‘gﬁiﬁl’a@Lﬁﬁkﬁﬁ‘ii"f‘if&%’%ﬁ»‘égﬁgﬁé‘iﬁiﬁ-mi%ﬁ?)ﬁﬁﬁ,ﬁ‘l&v
Y

405 Y BB A ART B RS A SRR SR B LA A 2 R RS AR BES A B L S AR D HPER L EAE S
F L LEFL

SV A ARV REAEHRIRD LEY RETCRBIHL A Y RAELEATRIGES RS S 0 BEFLT S LV RIRE S -




